Name

=

Add. Then use the code to solve the riddle below.

$84.29
29.16

Place the decimal
point in the sum.

11

$84.29
+ 29,16

113 .45

Add. Regroup

as needed.

$84.29
+ 29.16
S113 .45

Place the dollar
sign in the sum.

When adding money, keep the decimal point between the hundreds and tens place lined up.

C. $3.42 . $6.49 Y. $247 U $9.25 A. $3.04
+0.29 +9.28 +9.28 +3.98 +2.99
R. $0.42 i $5.48 EE $6.43 H. $1.42 S. $1.99
+ 8.91 +1.39 +2.97 +3.58 +8.33
D. $0.03 B. $0.04 0. $1.46 E $942 0. $31.42
+4.08 3.12 0.82 2.58 +28.29
+0.98 +3.48 +1.07
Why don’t fishermen use money?
$4.14 $9.40 $3.71 $6.03 $13.23 $10.32 $13.07
$6.87 $5.00 $9.40 $11.75 $13.23 $10.32 $13.07
l
$3.71 $9.33 $9.40 $4.11 $15.77 $6.87 $3.71 $5.76 $4.11  $10.32
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